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248 REHH (1) —FROEH-

[1] (1) 5RoMBIZx=0, 1, -2 ZAA.

x=0&35%&, 1=4a+2b+c
x=1&35%%, 6=9a+3b+c
x=-2&35h&, 3=c

L7223>7T, a=2, b=-5 ¢=3.
WilZ, a=2,b=-5¢c=3D& &

(G0 =2(x+2)* =5(x+2)+3=2x"+3x+1
), SUIMESIC x oESERIC R D,
W 2RO AL

a=2,b=-5¢=3 &)

(2) fill%k x =222V TEBHT 5.

¥ ={x-2)+2p
=(x-2P+6(x-27+12(x-2)+8

WA DLRE % i L C
a=1,b=6,c=12,d=8 (%)

3) GRXoOmBIZx=0,1, -1 ZRATS.

x=0&35¢& 2=—c sLoc==-2
x=1&35%¢& 4 =2a Sooa=2
x=-1&¢35%L 2=2b oo b=1

W22 (a, b, c)=2,1, =2). #HIZZDE X,
(i) = 2x(x + 1) + x(x = 1) = 2(x + D(x = 1)
=x*+x+2
b, GRIAHEPIC x DEFERNE LD, WRITKD HEIZ
a=2,b=1,c¢c=-2 (%)
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4 5XTx=0,1,2,3%2RALT

x=0&95%5& 0=d

x=1&35%& 1=c+d sooce=1

x=2¢95HE 8=2b+2c+d o b=3

x=3&¢35hE 27=6a+6b+3c+d soa=1
Hzzok x,

(G =x(x-D(x-2)+3x(x—D+x=x
), BRI x DEEXE 25, @2 ITKO HHIE
a=1,b=3,c=1,d=0 (&)
(5) GROGW W 5.

oy alx+ 1) +b(x—1)
(hil) = x-Dkx+1)

_(a+b)x+(a-Db)
T =D+

WA OGEHIEE L VWO T, 5T ORI L T
a+b=0, a-b=2

Lo TRDLAEIL
a=1,b=-1 &)
[2] (1) 5oLz BT 5.
(FE38) = a®x* — a®y? — b*x* + b*y?
(1) = (a*x* + 2abxy + b*y?) — (a®y* + 2abxy + b*x?)
= 2 — Y — P2 + b
W2 (fEil) = (Hil) L . (RERA#E)
Q) GROEDEERT S,
(fEB) = a* + 2a°b* + b* + a* - 24°b* + b*
=2(a* + b*)
= (f334)
(FEBA#E)
3) GROGBEET 5.
() = %(b2 —2bc +c?) + %(c2 —2ca+a*) + %(a2 —2ab + b?)
=d®+b*+c* —bc—ca—ab

= (i)
(RERA#E)
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3] (Hhb=1-akD
)=+ -aP’+1=2d*>-a+1)
By =2la+ (1 -a)—a(l —a)} = 2(a2 —a+1)
£ -oT, (B =(HD). (REPFR#&)
< g >
GRo () - (Fal) &1

(D) — () =d®> + b+ 1 =2(a+b) + 2ab
=(a+b)}-2a+b)+1
=0 (. a+b=1)

X oT (D) = (HD). (FERA#E)

Q) 53R (i) - () L b

(KEN) — (Fl) = a* — b* —be + ca
=(a+b)a-Db)+cla—Db)
=(a-b)a+b+c)
=0 (v a+b+c=0)

IoT, (KB = D). (FERA#E)

B) c=—(a+b) Zh5H,

(FE38) = {b - (a + b)}{—(a + b) + a}(a + b) — ab(a + b)
=ab(a + b) —ab(a + b)

=0
= (f1)
(GEPR#E)
<mlEg>
c+a=-b, a+b=-, b+c=-a L, GRIIBVT,
(%£8) = —abc + abc
=0
= (f1)
(GEPA#E)
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4) c=—(a+b) &V

. 1 1 1 1
) = = _ _ 1)
(i) a(b a+b) (a+b+ ) (a+b)(
_a__a __b b _y_a_b_
b a+b a+b+a ! b a !
__a+b _
a+b
=-3
= (fi38)
<FlIEE>
c+a=-b, a+b=-c, b+c=—-a V), 5RI2B\T
y=2L4&,b b c
b c c a a b
:c+a+a+b+b+c
b c a
_=b  —c  —a
b * c * a
=-3
= (f:l)
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[4] 5% x, yloowTERS 2 L
Qa+b+5x+QRa-b-1)y=0

INA x, yIZOWTOESERE % L720121%

2a-b-1=0 ---Q
Thsb O+@ &Y
4a+4=0 Looa=-1 €))

{2a+b+5:0 SNO)

roT®@4kh
b=-3 &)

(5] (1) Gz ohrz5RL Y
(a+ b+ c)bc+ca+ab)—abc=0
b, COXDOENEEHT L L
(/i) = {a+ (b + c){(b + ¢)a + bc} — abe
=b+c)a*+b+c)a+ b+ c)be
= (b+o)a® + (b + c)a + bc}
=b+co)a+b)a+c)=0

L7235 7T, a+b, b+c, c+aDHIbL{ty 12Z0TH5.
(FEPR%%)

Q) BAsnrgtiy
@=-12+b-1+@C-1>=@=-2a+D+B*=2b+ 1)+ (> =2c+1)
=@+ +cH-2a+b+c)+3
=3-2x343 (= &b
=0

£oT, a-1=b-1=c¢c-1=0. §&bba=b=c=1. (GERR#R)

1-5



(6] GRizBwT

(fcaB) — (G 8) = 2ax + 2by) — (ax + ay + bx + by)
ax—ay—bx+ by
a(x—y) —b(x-y)
(a=b)x—y)=0

LT,

a=b F7:1% x=y Tbhb. (FEBA#E)
(71 (1) %:%:%:k YBCY a=kx b=ky, c= ki THHDD
CH3D) = pkx + gky + rkz
px+qy+rz
k(px +qy + rz)
pX+qy+rz

k=4 = (kD) (RERA#E]

X

Q) FMREERT 5.

—-a+b+c =a—b+c _a+b-c

a b c
— _1+b+c:_1+a+c:_l+a+b
a b c
ey btc _a+tc _a+b @
a b c

THoHNL, O=k Btk
b+c=ak ---Q
a+c=bk ---®
a+b=ck ---®
@Q+®+® &Y
2a+b+c)=(@+b+c)k < (a+b+c)2-k)=0
& a+b+c=0 F7lT k=2
) a+b+c=00D, %,
b+c=-a, c+a=-b, a+b=—c Xl

(b+co)c+a)a+b)  (=a)-(=b)-(-c) S

abc abc
(i) k=2DL X,
@ & @&y,
(b+c)(c+a)a+b) (ka) - (kb) - (kc) 3 3
= = k = 2 = 8

abc abc

UE&Y, koo,
_17 8 (%)
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a __b __c _prper

[8] b+c - c+a - a+b

a=kb+c), b=kic+a),

CNSDOROM L EMEZD L

at+b+c=2k(a+b+c)
(a+b+0)2k-1)=0

W 212
a+b+c=0 kzi
’ 2

(i)a+b+C:0®a§.

_ a _L:—
k_b+c_—“ :
-1
k=7
kXD
1
k=-1, — &
> (&)

C:k(a+b)
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[9] 9 f(x) DREERD 5.
FO)Y=1 X0, f(x) I FEZHIZ0 TIEZRV. f(X) DREZ deg{f(x)} EELZLIZT 5.

deg{f()}=nThb L35 &, FE_Z DNHIC
f(x) = ax" + Ap1 X"V (ay = 0)

EBITA.
(G = fa+rD-f@ =2 ()
Feallix
Jx+1)—f(x)= {an(x + 1) +a, g (x+ D"+ --}— (a,,x" +a, X+ )

= {an (x” + "+, G 4 )
+ ap- (x”_l +(n—- D"+ )
+}
- (anx” +a, X+ )
= na, X"+ (x D (n-2) KUT DER)
22T, a,x0&Y, na,x0THs5HDT,
deg{f(x+ 1) - f()}=n—-1
(x) &1
n—1=2 Soon=3
W 212 deg {f(0)} =3 THHNE
f(x):ax +bx*+cx+d (a=x0)
EBITE. HU () &)
Fa+ 1) = () = {aCx+ 1P + bx+ 1) + c(x + 1) + d} = (ax + bx’ + cx + d)

=3ax2+(3a+2b)x+(a+b+c)

:x2

IHH x DEEFEXNTHLD5
3a=1 O
3a+2b=0 @
a+b+c=0 NO)

LT

1
6

-1 __1 _
a—3, b= > c
2 f0)y=14&D
d=1
P&, "kéf)% AU

fx) = —x —%x +%x+1 (&)
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izl e
[1] (1) %30% x ORREIRIZE L0 5 &,

(ED)=ax* +ax+a+bx+b+c

=ax*+@+bx+@+b+c)=x>—x+2

ZAB X 2D TOEEREOT, WO 2, x ORES & OEBIHIFEL L
a=1 (D
a+b=-1 NG
a+b+c=2 ---0

D% @IRALTh=-2--@

O, @%@ITRALTc=3

£o7C (@b, 0)=(1, -2,3) &)

(2) %@ d 5L,
ax-1)-b(x+1) (a-b)x+(-a-D)

G == ha+D - 2o1
22T, WIORTIEONT,
a-b=1 O,
{—a—b:—S N0

O, @ %WILEET, a=3, b=2
Io7T (. )=3.2 (&)

(3) FronERIIx=2 3, 4 2RALTHERINTTL20T,

x=2%fRALT, 2b=2 Lb=1
x=3%LALT, —c=-2 nc=2
x=4%MALT, 2a=-4 La=-2

2T, a=-2 b=1, c=2%%R0LMMNRATHL,
(FEl) = =2(x = 2)(x = 3) + (x = 3)(x — 4) + 2(x — 4)(x = 2)
=22 =5x+6) + (% = Tx+12) + 2(x*> — 6x + 8)
=207 +10x— 12+ % = Tx+ 12+ 2x% — 12x + 16
=x>-9x+16 = (£l)

EoT, (a b c)=(-2,1,2) (&)
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2] a+b+c=0 = c=-a-bEMBIIRATHE,
(}£i8) = a* + b* + (=a — b)*
=a’> +b* + (@® + 2ab + b%)
=2(a® +ab + b?)
(Hi8) = =2{ab + b(-a — b) + (—a — b)a)
= —2(ab — ab — b* — a* — ab)
=2(a® +ab + b?)

EoT, (El) =) L b0 T, EEIIREIN.

<HlEE>

(D) —(Hl)
=d®>+b* +* +2ab + 2bc + 2ca
=(a+b+c)

=0

LoT, (fEl)=(hD) BREn.

(3] Ly,
2(ax+by) =(a+b)(x+Yy)
Z 2T,
(f£al) — () = ax + 2by) — (ax + ay + bx + by)
=ax—ay—bx+by
=a(x—y) = b(x-y)
=(@-b)x-y=0
£oT, (a-b)(x-y)=04&D,
a=bFlIx=yTh5s.

(RERA#R)

(RERA#R)

(RERA#R)



258 KNEFPE (2) —AEKXDIIFA—-
[1] (D a>b&Va-b>0. F7, a>0, b>0LY), a+b>0THIH05
@ -b*=@+b)a-b)>0

£oT, @ > b (RERA#E)

Q) @>b* &Y, @-b*>0. ®ZIZ(a+b)a-b)>0.
ZZTa>0 b>0LD, a+b>0THiHN5H

a—-b>0 S.ooa>b
(GEPR#E)
B)a>b &V, a-b>0.
b<a+b @
b<a+b<a — 2
2 atb . ..
2
O o (FHB) - (B &0
a+b _a-b>b
T_b‘—z >0
W2 A2 O IZEAZ. FERIC @ 12BWT (FHl) — (7£38) £ 1
a+b _a-b
3 3 70
W2 2@ b PbkXD,
a+b
b < > <a
(FEPR%%)



2] W a>2,6>2%0), a=2>0,b-2>0THiH15H
(fE8) — (F38) = (ab + 4) — 2(a + b)
=ab-2a-2b+4
=ab-2)-2b-2)
=@-2)b-2)>0

LoT, ab+4>2a+b). (GERR#R)

(2) RYRERO (i) - () AT 5 &

(G38) — (/£38) = 2(ac + bd) — (ac + ad + bc + bd)
=ac+bd — ad — bc
=a(c—d)—b(c-d)
=(a-b)c—d)=20 (ra-b=20,c-d=<0)

Hlda=b, c=d DL ZFWI. WZIZ (a+b)(c+d) £2ac+ bd).

(REBA#E)
3 a>0,b>0&Va+b>0. 72, a>b LV (@a-b>>0THH15
(F£38) — (D) = (a® + b®) — ab(a + b)
= (a + b)(a* — ab + b*) — ab(a + b)
= (a + b)(d® - 2ab + b?)
=(@+b)a-b>>0
L oT, &@+b>ab(a+b). (GERR#E)
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[3] (1) RIRERKD W) - (HB) &b

(a+ b)* — 4ab = a® + 2ab + b* — 4ab
=a* - 2ab + b*
=(a-b’z20
23 a-b=0, Thbba=bDk L.
5T, (a+b)?24ab (GEBA#E)

(2) mIREXO (al) - (HB) &0

(@+b)-2a+b-1)=d>-2a+1+b>-2b+1

=(@-1*+0b-120
5T, @?+b*22a+b-1)

(RERA#R)

(3) WY NEKD (L) - (hHaB) £

(2a* + 3b%) — 4ab = 2a* — 4ab + 3b*
=2(a® = 2ab + b*) + b*
=2a-b’+b*20
H5Xa-b=0,b=0, Thbba=b=0D& &L,
L o5T, 24®+3b* = dab.

(RERA#R)

@) R ~ERO (50 - (30) XY

(@ +bY - @b+ ab®) = a*(a-b) - b a-b)
=(a-b)a’ -b)
=(a-b)*@* +ab+b%

ZZT

a2+ab+b2=(a+Lb2+ib220
2 47 =

S~———

LoT, (a=bXa*+ab+b>)20. %51, a=bF72lda=b=0, Thbba=b
DL ERIL.

v

W2z a*+b* 2 a’b+ab’?

(RERA#R)
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(5) mIREROLEAEZERL T,

a* +b* + +ab + be + ca

1 (2% + 267 + 267 + 2ab + 2bc + 2ca)

2
) 2 1 (2 2 1 (2 2
—E(a +2ab+b)+3(b +2bc+c)+3(c +26a+a)
:;(a+b)2 (b+c)2+l(c+a)zgo

H513a+b=0 b+c=0, c+a=00t %, Thbba=b=c=00& &7,

(RERR#R)

(6) RINEHKD (L) - (hHl) £ 0

(@ —ab+b>)—(a+b-1)
=a*—ab+b*—a-b+1

Log? —2ab+20* 24— 2b +2)

2

_ 1 2 — o, 1,2 1402

—2( 2ab+b)+2(a 2a+1)+2(b 2b+1)

_ 1 2, TV T

—2(61 b)” + ( 1)+2(b H°z0
Hrlta-b=0, a-1=0, b-1=00c &, Thbba=b=10D& XL,
DEXY, a>—ab+b*2a+b-1. (FEBR#E)
<plEg>

IR REND () - (HaB) L0

(@ —ab+bH)—(a+b-1)
=a*—(b+Da+b>-b+1

2 2
:(a_b+1) _(b+1) b —b+l

2 2

:(a_b+1)2+3b2—6b+3
2 4

Y UES B S IS

~(a- L) + 20— 1720

N RAE a—”Lzlzo b—1=0DLrE, $hbba=b=10F XV
by, a2—ab+b*2a+b-1. (GERB#&)
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[4] (1) RI~_ERKD B - HB) &b

(el - ki) = CEE a v p)
_(a+ b)(a* — ab + b*) — ab(a + b)
- ab
(a + b)(a® - 2ab + bY)
ab
_ (a+b)a-b)
B ab
5L, a=bDEER. Ko TREN.
2) RIREAD (fEal) - (HH) &0

a+b 2

(i) - (i) = 2ab  a+b
_(a+ b)? — 4ab
" 2ab(a+b)
_a* = 2ab + b?
2ab(a + b)
(a—b)?

S A— cc
Saba+ b) 20 (-a>0,b>0)

S, a=bDEEWIL. Ko TRENT.

20 (ra>0,b>0)

2-5
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[5] ZEAAR%ERLID, a+b%VEFEFN ERT,

la+b+c|l=|(a+b)+c|
< la+ bl +|c|
< lal + |b] + |c|

Thbtb
la+b+c|l <lal+ b+ |c| (GERR#R)

(6] (1) a>b>0%Y Vab>0ThY, (EB? - B2 %2%2T

(Va—b)z—(\/—— Vl;)z:(a—b)—(a—Z\/cE+b)
=2Vab-2b
=2Vb(va- Vb)

ZIT, oa>b>04%0
Va>Vb>0
@ 742 2Vb (Va - Vb) >0 k1
(Va=b)" > (Va— Vb)
DY D. 22T Na-b>0, Va- Vb>0THHN5H
Va—b> a- Vb
(RERA#E)
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2 az0,b20THY, $72 Vab=20THBH5

(\/E+ @)2—(Va+b)2:a+2@+b—(a+b)
=2Vab 20

L7235 TC,
(\/E+ \/l;)z > (Va+b)2

Ed
(V2Va+b) - (Va+ V) =2a+b) - (a+2Vab +b)
=a-2Vab+b
— (Va-Vb) 20
L72- 7T,
(V2Va+b) = (Va+ V)
ULlrs

(Va+b) = (Va+ Vb) <(V2Va+b)
22T, Va+b20, Va+Vbz0XkD
Va+b< NVa+ Vo< V2Va+b

(REPA#E)
S, P a=0F723b=00kE, LD a=b oL EHIL
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(3) a>0, b>0, ¢>0THYH, Vab>0, Vbc>0, Vea>0Thr5

( /7a+b+c)2_[va+v5+w)2

3 3
_2a+2b+2c—2Vab—2Vbc-2+ca
N 9

(Va= b+ (Vo= V) + (Ve V)
9

v

0

L7735 C,
2 2
atb+c| o Va + Vb + e
\ 3 = 3
ZZT Lb-i—c>0 M>OJ¢VJ
! 3 , 3 ,

atb+c o Va+ b+ e
3 = 3

(E VaY AW

F 7z, AL,
\/—:\/Zﬁ‘O\/—:\/E/)‘O\/—:\/a
Thbb, a=b=cDELEXTH5. (FEBR#%]
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(7] (1) GETREXD (L) - (FHB) £
y+l-(x+y=x(-D-y+1=x-DOr-1) -
ZZTHEMLDY
x| <1, [y|<1
THoHHhD
x—1<0, y-1<0

WZIZ(x)>0 &R0, EEIIAZIN.

2) |yl<1, |zl <1 &Y,
lyz] <1
22T, () OkREREZ NS &,

xyz+2=x(yz)+1+1
>x+yz+1
>x+y+z

EBRDLOT, EEIIARZSINT.
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[Sl (H1gigsnpk ¥,
2
n<im+1-i) ---@© ﬁm>im+1—0§(£§l)
B IO wRmT. OO (FHl) - (Fi) £ D
in+1l=)-n=@G-Dn—-+i
=(-Dn-iGi-1)
=(i-Dn-)20 (-1<i<n)

F7:@ o (hB) - (i) kY

n+ 1\ . .
n+ly oy i) =
( ) n+1-1i0)=

* (n* +2n+ 1) = di(n + 1 - i)}

n? = 2(2i - n +4i - 4i+ 1]

N N el Y
— — —

n? = 2(2i - Hn + (2i - 1)}

=—n-Qi-DF20

PEXY, ©»2 Q@ i §abb
néKn+1—D§(ﬂ%ly c (%)

PALT B T EATRE NI

2) *)T, i=1,2,3,---nIZLT
2

i=1 ngl'n§<n—;1) i

i=2 n§2'(n—1)§(%)

2
iz3n§&@—%§“%i)

i=n nén&é(ﬂ%lf
NS n lHOARLER DL % 1T T

R N B}
nz1 THonb, FLOLEDFIREE DL,

(RERA#R)

(RERA#E)



[0l 52onf&tla+b+c=1LY, (a+b+0c)?=1.
AT NERI

3(ab+ b+ ca) < 1< 3(a® +b* + c?)
THILND,
3(ab+bc+ca)<(a+b+c)2<3(a2+b2+c2)
EREIZ IV,
() EHoORERICB VT, (hl) - (FEl) kb
(a+b+c)*=3(ab + be + ca)
=d*+b*+c*—ab—-bc—-ca
- %(2612 + 2% +2¢* — 2ab ~ 2be — 2ca)
= MHa-0P+-cP +c-a?)z0
2
ETADaxb X Y)EFITRIL RV,
(i) HHORERIZBNT, (Gl - (D) £
3@+ b +cH)—(a+b+c)
=2a” + 2b* + 2¢* — 2ab — 2bc — 2ca
=(a-b+b-c +(c-a’20
ETADaxb L YEFITRTL 2w,
P&y,
3(ab+bc+ca) < (a+b+c)* =1 <3(a2+b2+cz)

FabbHXDPWY) LD EHTRENTZ.
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iAnHI SRR

(1]

(20

LoT, (El)z(HD) THD I EARENT.
F72, SFEHOLIX

3
4
NI ENDLa=b=0Dk X,

a+=b=0 > b=0

@ (EEWy— (i) =a*+b*+c+1—(a+b+c)

=d>—a+b*—b+*-c+1

ZZT, a b, c\3EHLEDOT

2 2 2
4T 20 (4T 20 (3

2 2
£oT
() 2 % >0
W22, (fEal) > (hl) Thh, EEITRI N

(REPA#E]

(RERA#]



(21 (1) (JE3l) — (£iB) = a*b — ab*
=abla—Db) --- (%)

22T, a>0 b>0 a-b>0&D, (x)>0

£oT, (EB)> D) &Y, EEIIASN:

) (J£38) = (Fi30) = ab — 2a—3b + 6
=ab-2)-3(b-2)
=@-3)(b-2) - (x)
Z 2T,
a<3&h, a-3<0
b<2 &b, b-2<0

W2, (%) >0

LoT, (EB)> D) &Y, EEIIASN

Bl az-1THsrDT,

1+%>0, Vi+az0

LoT, MAZZNEN2ELTERDLL

Gey - ti? = (14 4) ~(Viza)
a2
T

—_—

+a+ -(1+a)
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